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QUESTION 1

You are designing a Communication Manager (CM) 8 solution with centralized ISDN trunks at the main site and two
remote gateway locations. Each remote location will be connected to the main server via dedicated, point-to-point WAN
service. Main - CM 8.1 duplex pair with 2-G450s and 250 IP stations Remote 1 - S8300E LSP/G450 with 125 IP stations
Remote 2 - S8300E LSP/G430 with 30 IP stations. 

To ensure that no one site Is overwhelmed by CM traffic, what is the recommended number of network regions required
for this design? 

A. 7 regions: 1 at the main, 1 at each remote site, 1 for each site\\'s IP telephones, and one for the virtual network
region 

B. 4 regions: 1 at the main, 1 at each remote site, and 1 for the virtual network region 

C. 3 regions: 1 at the main, and 1 at each remote site 

D. 6 regions: 1 at the main, 1 at each remote site, and 1 virtual network region for each site 

Correct Answer: C 

 

QUESTION 2

A customer has asked you to provide a design for a 1,400 H.323 stations and eight T-is. 

You have provided the following design: 

Communication Manager Simplex 

Two G450 Media Gateways 

Eight T1Media Modules 

1,400 - 9611G IP Phones 

1,400 - Core Licenses 

The customer responds that the following changes need to be made to the design: 

Change all the H.323 stations to SIP stations. 

Add 2 additional T1s to the design as the customer has higher traffic than initially thought. 

All users will need to be able to use the Skype for Business client for telephony. 

Which two changes need to be made to the design to comply with the customer\\'s revised requirements? 

(Choose two.) 

A. Add two T1Media modules and distribute the T1modules evenly between the two G450 Media Gateways. 

B. Add an additional 1,400 Cote licenses to the design to support Lync integration. 
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C. Add System and Session Manager Servers to the design. 

D. Add 1,400 SM SIP connection licenses. 

Correct Answer: B 

 

 

QUESTION 3

Which change was made to EC500, to provide CS1000 Mobile-X like feature experience? 

A. You can now put the call on hold before dialing a feature access code. 

B. You can now dial a feature access code without putting the call on hold. 

C. You can now enter a feature access code before receiving a call. 

D. You must now enter feature access codes before you put a call on hold. 

Correct Answer: A 

 

QUESTION 4

You are adding 1400 users to an existing Avaya Aura communication core- The customer wants the same services for
alt users, but with this expansion there Is not enough bandwidth for audio and video calls for all. 

If the bandwidth parameter Is set lower than the minimum video requirement, what will happen to users Initiating audio
and video calls? 

A. Audio calls will connect but video calls will not initiate. 

B. Audio and video calls will connect for some users. 

C. Audio and video calls will connect for all users. 

D. Audio calls will connect and video calls will connect as audio calls. 

Correct Answer: B 

 

 

QUESTION 5

A customer has a branch location with the following requirements: 

24 H.323 Endpoints 30 SIP Endpoints 1 DS-1 for PSTN trunking 15 Analog Ports Survivability for all endpoints in event
of WAN fail 

What is the least cost gateway solution that meets all of these requirements? 
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A. G450 Media Gateway with S8300 

B. G450 Media Gateway 

C. G430 Media Gateway 

D. G430 Media Gateway with S8300 

Correct Answer: C 
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